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QUESTION 1

Identify three customer options for hosting the Platinum Services Advanced Support Gateway. (Choose three.) 

A. Purchase the recommended x86 64-Bit gateway hardware from Oracle. 

B. Install in Oracle Virtual Machine with required hardware. 

C. Install on Exadata Engineered System. 

D. Provide individual x86 64-Bit gateway hardware. 

E. Install on Oracle Database Appliance. 

Correct Answer: ABC 

Reference: http://www.oracle.com/us/assets/platinum-services-faq-1653259.pdf 

 

QUESTION 2

You are measuring the I/O savings provided by storage indexes for Table A. One of your scripts displays the I/O sayings
as a result of the storage indexes. 

Which two statements are true? (Choose two.) 
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A. The accumulated I/O saved by the storage index is 1.68 MB. 

B. The storage indexes reduced the amount of physical I/O bytes significantly for this query. 

C. Since the database was started, no queries were run against this table with the same predicate. 

D. The storage index data is not on the Cell Server\\'s region index memory structures yet because this predicate has
not been used. 

E. The storage indexes were disabled by using the DISABLE_STORAGE_INDEX parameter. 

Correct Answer: BD 

 

 

QUESTION 3

To patch an Exadata cloud instance, you need to run the exadbcpatchmulti command as root from the compute node.
exadbcpatchmulti uses the exadbcpatch.cfg file to provide information about the location of files related to patching
operations as well as additional parameters related to these operations. 

What is the purpose of the sw_bkup_needed=1 parameter that can be set in the exadbcpatch.cfg file? 

A. creates a backup of the patch in case of an error in the patching routine 
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B. performs a backup of each Oracle home directory before a patch is applied 

C. forces the software to create a backup of the exadbpatch.cfg file 

D. adds a dialog box that prompts for a backup before the patch can be applied 

E. creates a backup of the Oracle database data files 

Correct Answer: E 

 

 

QUESTION 4

Which two statements are true about enabling write-back flash cache? (Choose two.) 

A. When enabling write-back flash cache in a non-rolling manner, it is important to ensure that asmdeactivationoutcome
is set to YES and asmModeStatus is set to ONLINE for all grid disks. 

B. Write-back flash cache requires a minimum required software version. 

C. Before write-back flash cache is enabled, you need to drop the Flash Cache first. 

D. The setting flashCacheMode should be set to Writeback by updating cellkey.ora and restarting cellsrv. 

E. When enabling write-back flash cache in a rolling manner, DBCLI should be used to inactivate the grid disks on all
cells first. 

Correct Answer: BC 

Reference: http://www.oracle.com/technetwork/articles/database/exadata-write-back-flash-2179184.html 

 

QUESTION 5

What are the three Flash Cache prioritization levels that can be set via the CELL_FLASH_CACHE command? (Choose
three.) 

A. PINNED 

B. LOG 

C. NONE 

D. KEEP 

E. DEFAULT 

Correct Answer: CDE 

Reference: https://www.pythian.com/blog/whats-in-your-exadata-smart-flash-cache/ 
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